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X()=x,(t T s)

M1
3
&= sinB s ..(QD
M2 x2(t) M1
TS
X2(t)=x1(t T S) e 2
Ts=¢/ =( sinB s)/ .. 3
x1(t)  xe(t) T
0 s=sint( 1 /d) .. 4
Xa(t) ¢ (r)

(T )= 1/NZ {xa(t) x (t+1 )}
=1/NZ {xa(t) xa(t+t1 T S)} ... 5

x1(t)



T TS T=ts ¢ (1)

X1(t)
@ (T )=UNZ {xu(t) x (t+1 )} ...(6)
x1(t) 1
X (t+1)
(t ) X () x (t+1)
¢ (r)
X1(t) X (t)
® (T )=LNZ {xu(t) x (t+1 )} ...(7)
X1(t) T
X (t+1)
M1l M2
M2 X2(t) M1 X1(t)
TS ()
o (u)
@ (T )=UNZ {xa(t) xu(t+1 T S)}
¢ (T 159 ...(8)
() ® (r) @ (t) tTs
o () T

o (1) T Ts



0.17 [m]

340 [m/s]
s 48000 [Hz]
s 50[°] - L 1
thita=50*pi/180[ 1
0 s 50[° ] taus y
) TS

Ts ( sinBs)
0.17 sin50 340
0.000383022
TS taus
s( 1/ s)
taus 1 s S
0.000383022 48000
18.385066

8s 50[° ]



% seigenhal

%
% 2001.9.28 moriyama

%

Fs=48000; %
x=(1:32000)"; % ( )
d=0.17; %
€=340; %
thita=50*pi/180; %O s 50° [ 1
%
y=0.5*sin(2*pi*(x-1)/50); % T 50
%T=50 (1/Fs)=16/48000[s]( )
tmax=round(d/c*Fs) % ( )

Ccor=zeros(2*tmax,1);

xt=y(1001:31000); wxt vy 1001 31000
disp(xt(1:10)); %y(1001) y(1010) xt(1) xt(10)

taus=round(d*(sin(thita))/c*Fs) %

yt=y(1001+taus:31000+taus); %yt vy 1001+taus 31000+taus

disp(yt(1:10)); %y(1001+taus) y(1010+taus) yt(1) yt(10)

%

for tau=-tmax:tmax

Ccor(tauttmax+1)=xt(1+tau+tmax:10000+tau+tmax) " *yt(1+tmax:10000+tmax)/10000;
end



XX=-tmax:tmax;

plot(xx,Ccor);

%

xlabel (" [ 17
ylabel (" )
Lyjiku xjiku]=max(Ccor); %

XJ i1ku=xj iku-tmax-1 %

hoko=asin(c*xjiku/Fs/d); %
kaku=hoko/pi*180 %

yjiku

Xjiku,
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0.17 [m]
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tau

X (t)

>

X(O)=x,(t T s)

(

(

tau

T max

)

)

T max

T max

X (1)

[ 1]

¢

(

T max

Fs
(t)

)...(9)

TS

(T)

10

X2(t)
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3.4 [m]
340 [m/s]
s 8000 [Hz]
6s 40 [°] -
y=randn(32000,1) «

0 s 40[° ] taus y
) Ts
Ts ( sinBs)/
3.4 sin40/340

0.00642787
TS taus
s( 1/ s)
taus T s s ...(10)
0.00642784 8000
51.42272

8s 40[° ]
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% zatuon

%
% 2001.9.28 moriyama

%

Fs=8000;

y=randn(32000,1); %
€=340; %
d=3.4; %

thita=40*pi/180; %0 s 40°

taus=round(d*(sin(thita))/c*Fs)

tmax=round(d/c*Fs)

Ccor=zeros(tmax,1);

xt=y(1001:31000);
yt=y(1001+taus:31000+taus);

%

for tau=-tmax:tmax

12

Ccor(tauttmax+1)=xt(1+tau+tmax:10000+tau+tmax) " *yt(1+tmax:10000+tmax)/10000;

end

XX=-tmax:tmax;

plot(xx,Ccor);

%

xlabel (* L 19
ylabel (* D)

[viiku xjiku]=max(Ccor);

Xj 1ku=xj iku-tmax-1
hoko=asin(c*xjiku/Fs/d);
kaku=hoko/pi*180 %

1-1° 1]
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cirline ( ) , ,
( )
float
48[kHz]
2
2.83[cm]
cirline RT CH Ang Len Byte Total
E2A/imp ( 0.30 30 9 30000 4 31.0MB
000 )A 12
E2B/imp ( 1.30 30 9 125000 4 128._8MB
000 )B 12
JR1/imp 0.60 30 9 60000 4 61.9MB
000 13
JR2/imp 0.47 30 7 45000 4 36.1MB
000 14
OFC/imp 0.78 30 9 75000 4 77.3MB
000 15
RT CH:
Ang: Len: 1
Byte:
Total:
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Ve T

1460
1420

h—d___e 200

imp010 | imp030 | imp050 | imp070 | imp090 | imp110 | impl30 | impl50 | impl70

-80 -60 -40 -20 0 +20 +40 +60 +80
[ 1]
E2A,E2B
Jrl,0fc: imp090 10[° ] + 40[° ]

Jr2: imp090 10[° ] + 30[° ]




(E2A,E2B)

@rl)
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ij

0.0283*5 [n]

340 [m/s]
s 48000 [Hz]

0.1

0 335 340 345 350 355 360 365 370 375 380

-0
-0.
-0,

330 335 340 345 350 355 360 365 370 375 380
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% tienwa2

%
% 2001.10.18 moriyama

%

c=340
d=0.0283*5
Fs=48000

%

fid = fopen("d:¥array¥E2a¥imp070¥imp070.21%,"r")

[FILENAME,PERMISSION,MACHINEFORMAT] = fopen(fid) (¥E2a¥imp070)
datal=fread(fid, "float32");

fid = fopen("d:¥array¥E2a¥imp070¥imp070.26","r")
[FILENAME,PERMISSION,MACHINEFORMAT] = fopen(fid) (¥E2a¥imp070)
data2=fread(fid, "float32");

fclose(fid);

ccl=interpl(datal,[300:0.1:450], "spline™); %
(300 400 0.1 )
plot([300:0.1:450],ccl,™b");
hold on
ccz2=interpl(data2,[300:0.1:450], "spline®);
plot([300:0.1:450],cc2,"r");

grid;
%

xlabel (" L 19
ylabel (* D)



[yijikul xjikul]=max(ccl);
[yiiku2 xjiku2]=max(cc2);

Xj iku=(xjikul-xjiku2)/10

%cel

%ee2

%cel

xjikul

cc2

xj iku2

24
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(#21,26) 0
)
0 Sin_l(C*T ij ) ...(1%) c=340
T [ ] [ 1 d=0.0283*5(=0.1415)
0 Si n_l(C*(T ij Fs) ) ...(15) Fs=48000
Datal Data2 )
( Ytau  -5.9 [ ] (14)
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sin"{340*((-5.9) 48000) 0.1415}
-17 [ ]
imp070 thita -20[° ] ( imp090 thita=0)
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A)

()

() ()
T i
[° 1] [ ] [ ] [° ]
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-40 -12.8 -10.9 -33.0
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+40 12.8 11.4 34.8
+60 17.3 15.1 49.1
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Cirline/E2A/imp000( A)
imp090 0° ( ) 20° + 80°
( - E2A,E2B Jrl,0fc:10° + 40°
Jr2:10° +30° )
@@ =C sind )7/ )
(#21,26) T ij
T i (15)(® sin(c*(t ;; Fs) )
¢ ).C)H C ).C)
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E2B(
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B)
()
() ()
[ 1 [ [ [° ]

-80 -19.7 -16.8 -57.2

-60 -17.3 -14.9 -48.2

-40 -12.8 -10.9 -33.1

-20 -6.8 -5.4 -15.7

0 0 0.3 0.9

+20 6.8 6.5 19.0

+40 12.8 11.3 34.4

+60 17.3 15.1 49.1

+80 19.7 16.3 547
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Jri(

BRI 7 (et F L]

)
()
() ()
[° 1 [ [ ] [° ]
-40 -12.8 -13.3 -41.7
-30 -10.0 -9.4 -28.1
-20 -6.8 -6.9 -20.2
-10 -3.5 -4.2 -12.1
0 0 -0.8 -2.3
+10 3.5 2.3 6.6
+20 6.8 5.5 16.0
+30 10.0 8.6 25.5
+40 12.8 11.1 33.8
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() ()
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()
() ()
T ij
[ 1 [ ] [ ] [° ]
-40 -12.8 -11.4 -34.8
-30 -10.0 -8.1 -23.9
-20 -6.8 -5.2 -15.1
-10 -3.5 -2.4 -6.9
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+20 6.8 6.8 19.9
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E2A,E2B (a) -80,-60,60,80[° ]
(a)
)
c=340 ~
d=0.0283
Fs=48000
Fs
taus T s s
( sin6 s)/ S
1225 Fs
[imp000] | (0.0245) 41500 T i T i
[ 1 (E2M)[ 1 | (E2B)[ 1
010(-80) -17.0 -17.0 -17.0 -16.8
030(-60) -15.0 -15.0 -14.9 -14.9
050(-40) -11.1 -11.1 -10.9 -10.9
070(-20) -5.9 -5.9 -5.9 -5.4
090(0) 0 0 0 0.3
110(+20) 5.9 5.9 6.1 6.5
130(+40) 11.1 11.1 11.4 11.3
150(+60) 15.0 15.0 15.1 15.1
170(+80) 17.0 17.0 16.5 16.3
Cirline/E2A E2B Fs ( )
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% tienwal

% (

)
% 2001.11.06 moriyama

%

c=340
d=0.1132
Fs=48000

%

fid = fopen("d:¥array¥E2b¥imp010¥imp010.17","r")
[FILENAME,PERMISSION,MACHINEFORMAT] = fopen(fid)
datal=fread(fid, "float32");

fid = fopen("d:¥array¥E2b¥imp010¥imp010.217,"r")
[FILENAME,PERMISSION,MACHINEFORMAT] = fopen(fid)
data2=fread(fid, "float32");

fid = fopen("d:¥array¥E2b¥imp010¥imp010.257,"r")
[FILENAME,PERMISSION,MACHINEFORMAT] = fopen(fid)
data3=fread(fid, "float32");

fid = fopen("d:¥array¥E2b¥imp010¥imp010.297,"r")
[FILENAME,PERMISSION,MACHINEFORMAT] = fopen(fid)

datad=fread(fid, "float32");

fclose(fid);

imp090

38

thita=0
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%

for thita=-90:10:90 %-90 90[° ] 10 °
tau=round(Fs*d*(sin(thita*pi/180))/c);
y=datal(101-tau:1500-tau)+data2(101-2*tau:1500-2*tau)+data3(101-3*tau:1500-3
*tau)+data4(101-4*tau:1500-4*tau);
py(thita/10+10)=y"*y;

end

ccl=interpl(py,[1:0.1:19],"spline™); %
x=[-90:1:90]; % 90 90[° ]
plot(x,ccl,"b");

grid;

[viiku xjiku]=max(ccl);

Xj ikul=(xjiku/10-9)*10

%
xlabel (* D)
ylabel (" D)
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+40 11.4 34.8 39
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+80 16.5 55.7 61
s T 0 (E20)
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(#17,21,25,29)

E2A)

A
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1.5

RW
2[m] « )
(2.83[cmD)

(#17,21,25,29)

o (2cosB s 2sinb s)

2[m] 0s
( ) (2cosB s 2sinB s)
— 17,21,25,29
17,21,25,29 17,21,25,29
1h/@mws diryn2 A2 17
\ (d17 17
2ﬁ/amws 212 A2 (18)
(d21 21
ZSi//(Zcose s d25)n2 A2 (19)
(d25 25
29i//(2cose s d29)"2 A2 (20)
(d29 29
-6.5 -2.5
#23,24

(16)

(=-6.5 d))

(z-2.5 d)

1.5 d)

(5.5 d))

#25



(17)(18)(19)(20)
17,21 T, 21,25 T, 25,29
T3
10[° ] -80 O[° 1 T,7T,7T,
17,21 21,25 25,29
[° ] T 2 T3
] [ ] [ ]
-80 15.8 15.7 15.7
-70 15.1 15.0 14.9
-60 14.0 13.9 13.6
-50 12.6 12.3 11.9
-40 10.8 10.3 9.8
-30 8.7 8.1 7.4
-20 6.3 5.6 4.7
-10 3.7 2.9 2.0
0 1.0 0.1 0.8
T,T,7T;

T:T,T3

50
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(17,21,25,29)
0s

( )
%onseil
%
% 2001.12.10 moriyama
hl=wavrecord(48000,48000); %hl
plot(hl); %
wavwrite(hl,48000, "d:¥ ¥otomo"); W d:¥ ¥otomo”
pause % ( enter” )

sound(hl,48000) %
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% tienwalotomo3

% (
% 2002.2.21 moriyama

%

c=340
d=0.1132
Fs=48000

%
data=wavread("d:¥ ¥otomo3*);
%plot(data)

%

%xlabel (* [ 19
%ylabel (* D)

%return

%

fid = fopen("d:¥array¥E2a¥imp070¥imp070.17","r")
[FILENAME , PERMISSION ,MACHINEFORMAT] = fopen(fid)
datal=fread(fid, "float32");
datal=conv(datal(100:1500),data);

fid = fopen("d:¥array¥E2a¥imp070¥imp070.21","r")
[FILENAME , PERMISSION ,MACHINEFORMAT] = fopen(fid)
data2=fread(fid, "float32");
data2=conv(data2(100:1500),data);

fid = fopen("d:¥array¥E2a¥imp070¥imp070.25","r")
[FILENAME , PERMISSION ,MACHINEFORMAT] = fopen(fid)
data3=fread(fid, "float32");
data3=conv(data3(100:1500),data);

otomo3)
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fid = fopen("d:¥array¥E2a¥imp070¥imp070.297,"r")
[FILENAME , PERMISSION ,MACHINEFORMAT] = fopen(fid)
datad=fread(fid, "float32");
datad=conv(data4(100:1500),data);

fclose(fid);

%

for thita=-90:10:90 %-90 90 10
tau=round(Fs*d*(sin(thita*pi/180))/c);
y=datal(3000-tau:35000-tau)+data2(3000-2*tau: 35000-2*tau)+data3(3000-3*tau
:35000-3*tau)+data4(3000-4*tau:35000-4*tau);
py(thita/10+10)=y"*y;

end

ccl=interpl(py,[1:0.1:19], "spline®);
x=[-90:1:90];

plot(x,ccl,"b");

grid;

[yiiku xjiku]=max(ccl);

Xj ikul=(xjiku/10-9)*10

%
xlabel (" D)
ylabel (" D)
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